A L # B =
A # B B |FER30ZF12H 198 9:40~ IEFER Hh g, B {5
I =E £ HEH2EAh( 22X ENRTEXEHETSE
I E B/ A (AFPEEXE F A R
2 B A (BAENEERIZEOEEZNICERIIEEHRFAILSNEDIEREEICEDEIEREITO-.
RS EFAH) 20,628,000 | FEMIEFERE) 19,740,000 | BAX FI R 4& (BidR =) 16,779,000
A B (FH) % f &
5 (13=7]
B &% % & 4 (505E) = 1 @ %= 2 O %= 3 @ =)
(B) A+ 4H 19,100 19,100
IR AR iR
(B)F % 19,530
hEEE 19,290
h R EE%E) 19,280
GRS iR
() 3R L0 3 B% 19,300
B OEER Eme XA F ARSI AN A (=N BE5400002012543) | 32 # H H |ER 0% 12 A 25 H
" £ it 82 K BT K E%KT7-36-4 T HBGEF) TR 30 F 12 A 28 B
I H(GERk) L3 FEI3 A 27H
BARUIEHE s - =L

5% : AFLEECEFLEE) (CHEXEEDB8 %I E I D REEEME L - EEAVEE L O AFLMBCEALMEIR) THD,




